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8, 10, 12 agaml quocalyd&l@d adlange 2 QilMo 09|
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BM MLoEUOW 4 OIME A5G0
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19. b) 1 8MiIsQliges GREDMBSOS D GO GRAIRO'S
QDO R G20 @RS 11 6H0f YWensimead
@REEMEITd @Y MoEIO® 11 OIS ASleyPato
0@l 0

20.¢) 1 QAT OIMNE 20EBIEHIQYAMD AVoEUIHSO'S BREDDD >

gOSleay YWeNSI®2OWIBlEs.

=~aoM @WR&I3UD

B@ ALoEUOW ANEWRHo aOBIENIQYAM AVCEUEUDd af)@]00 @) MVCEIYO'S QISEEBUD
@6,
1 ag)gJ0 ALaIQYOSYYo RISHAI6MD.

B@ af)IRO MVAIOW @PBED MVRIOIENE YWENSl.9om HIFAM MV QOS
AQISHBBBOS af)6Ro BQYMVEIIWBEIESo.

@REINY MVAIED:SOS RISHEBZOS af)6Ro 2 @RENT.

BM MVo6|6OW BREINY QAISHMRSIW a1d16) 59T @) MVAIQE'S af)RI0 ISEEDBRSo
SOMOMIM HFINo.

R6NE’ @PERINY AVEUEUd BM QLA QYO'S CQISEMBUD @REEME/IT CRAIVYOS
YWeMMaNLIQje @R MVAIQEOS RISBHAIDB|LS0.

BM VoAl QYE'S QIS EORUd AW GREIVY MVoAlGHSHS YEMManLlo @D Mol QYOS
QIS BRI MO

BT MVoEUYQYOS CRISHBBSIW 2 QLAY WES OaldD QIS 1 RIO26HEM Eol@d
@RQIWY6S YEMMaNLIQje @) MRS 2RISR Bl ERo.

BM MVoAlOW BREINY QISHMRSIW a1d16) 5|9 TBIWITd @R MVEIIQYE'S 2ISEEBBOS
a)6[Re ) @OWAT’ alOWIM H¥Qo.

2 Q@YY BREINY MVoElGSOS YWEMMNLINIW Mo QROS WRISHEOBSO'S af)6Ro 4
@RWI@BES30.

8@ @PEINY MVoEOW GREM GREIVY MVoEIIHMRINE VENJl.90Td BHFON MVEIW6S
AQISHDBBOS af)6[Po ANV BlESo.

BT @PEINY MVEOW GO QM GRABET .9l WENSlgloEd HIFOM AVAQYES
QISHBBBOS af)6Ro 4 ERWIA|ES0

@6NG QLA ESOS 6)aldDYIMEBEIT oBQQo 621610 MAIOWWOIT’ 6.01Q 6al0®
WMo af)AM IOYWIM®. GRMIVW®) OV BN MVoEU|GHSOHSQo YENIDERSITd
DUWORIGAM oRIALIOOD oaBQQe 62IGIW VAWM. ( least common multiple ,
lowest common multiple (Icm) or smallest common multiple)

NG AVoEUEBOS 6)aldD®WISHMBLEIGD a0 AULIVTIOHM ERAIQYE'S QI OaldD
QIS0 af)OM QSIEBMR. BRIV NG Mol ESWQo UBlYAILPO® aOBlEs3QIOM
QLOUSIERAM, o JRYOTIB YBHSIBISS aBQQo DWAMN OO AIOW MVCEUSWIET QICD
6al0® caISo. ( greatest common divisor (gcd),greatest common factor (gcf) or
highest common factor (hcf))
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